
SAP ABAP table PKSL {Detailed Selection of the Dependent Requirements}

PKSL

MANDT [CLNT (3)]

PKNUM [CHAR (7)]

LFDZL [NUMC (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

PRVBE [CHAR (10)]

PKHD

MANDT [CLNT (3)]

PKNUM [CHAR (7)] PKSL-PKNUM = PKHD-PKNUM 0..N

1

PVBE

MANDT [CLNT (3)]

WERKS [CHAR (4)]

PRVBE [CHAR (10)]
 PKSL-PRVBE = PVBE-PRVBE 0..N

1 T000

MANDT [CLNT (3)]

 PKSL-MANDT = T000-MANDT 
0..N1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 PKSL-LGORT = T001L-LGORT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 PKSL-WERKS = T001W-WERKS 

0..N

1


